AlEeEE (B 6 S:B96R)
S MmT4 4 8 4H

NMELEEFERE A — %
MEL A A W # @
4 OF 6 4R B B B TR i B I X W OE

E < Mk BOSIET A ORI 25615 6 $285 1 oOBEIc L v, ko L0
SR E B IGR aisE s L E 3,



pillbcis

T TG4 B BUBS TR B I S 3

MES TSR B ®
1 XA (Bf7 : [)
B H PN i %
BRSTREhIE 240, 000
% Dfth 0
&t 240, 000
2 X (BAE : )
# B X W =
AL 26,280| H#t TBUSEB@EGE) B8R
WHER 3,000| AUk BHEDREE 28
IR 0
IERERR 0
i« BRIEEN R 52,440] HHE MBOEEDEEE 2R
LB 0
BRHER 0
BRI AR 55, 710| Ak MBEEEHEWEE) 28
INCS ¢ 0
WHEITH 0
GE 137, 430

() HEMICIX, E3XHONRERIRT S,

3 7

102, 570 ™




N A
M EHHRSE(SHNOEE &)
K 4 W@
B: $M6FE481A8
E:.fMIFIANA
A a8 & Bh ] = # B e & H &
(M)
W M ¥ —F v bEER) WER 26, 280| 1/27EH
Bl O E o 7 % L\ 26, 280
8 7 FrHEETH RSB AVHES ) - = Fii ke 3,000 7
cREGEM, MFoLK HRE
wr 123 ® INGE 3, 000
IE 3] % INEE 0
7 ] ® VBt 0
7 | 34 |EEBE~OESL - [{fF e 52, 440
BEH - -BERHSE R INEE 52, 440
= - ® gt 0
# H #%# B =B INEE 0
6 20 %%f%t%‘(:ob\fj @%ﬂ#ﬁ)\% 1,650
7 115 BRI E LR HH - FREEIDHE B %%ﬂjft?k% 1,980
8 |21 %%T@EOD@W@MQ%ME LV AT 90|
RIS ?%f#mkw 577 v/ &¥ @%{#&2\% 1,540
1 6 |BEIMFL THREBR) ) - E‘]EWM‘% 2,000
319 i et (itl’aﬂﬁfﬁFﬁi) 1 HECSH T 42,300| 4E#h
3| 19 [HrAMEBERE (P BB THFES 39,600 4EfA
3 e Mﬁ‘fféﬂlﬁw v e L A Elﬁi’lﬂg&%&* 1,650
BE| |memsceHzem (B, 000m/A X124 8) | e | A se000| &
A # B A =B INEE 55, 710
A #%* B IMEL 0
: = [} ® Mg 0
-1 &t 137, 430




